G OBI Intelligent Designs 2000 Corp.

Denver, Colorado £0211
RAGHS www, GOBIRA CES.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

The rack must be inspected before each use to make certain attachments are
secure, and for evidence of wear.  Misuse of the rack or failure to observe the
ma nufacturer's instructions as to installation, proper Attachment and
maintenance will void warranties that may be implied by lavw.

TOOLS REQUIRED FOR INSTALTATION:

1- 8mm socket with 6" extension (bumper end cap)

1- 15mm socket 3/8'' drive (rear mud guard bracket)

1- 16mm socket 3/8" drive (inside door hinge bolt)

1- 13mm box or open end wrench (windshield hinge bolt)

1- 3/4" socket and 3/4" box end or adjustable wrench (rear
support bars)

1- 9/16" socket 3/8" drive with 10" extension

1-1/2" box or open end wrench (rear lower and upper isolators)

1- 9/16" box or open end wrench (front roof rack screws and
support towers)

1- Torx bit (T-40) front cowling side covers
1- Smm Allen wrench (front lower light bar cover plate)

1- 3/16" Allen wrench (front lower light bar Gobi logo

support bracket)
CAUTION

USE ANTI-SEIZE LUBRICANT
ON ALL SCREWS

NOTE: PAY SPECTAL ATTENTION TO RED HIGHLIGHTED INSTRUCTIONS

Installation Instractions for — GOBIJEEP JL SKY ONE ROOF RACK GEN 1 rarrwo. GITLS1GL | sHEET 1 oF 25




G OB I Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 80211

wunw, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Cideline s:

Whers using Load Carriers and Accesgories, the user must understand the precautions. The points listed below
will azsist you in using the rack feartier system and will encourage safety.

¢ For gquality fits and zafty, use ondy the recomtvended rack or accessory. Do not assume an aceessory will fit,
alwrays check with dealer when obtaining new accessoties. Use only approved accessories on load cartiers,
Uzitig other brands will woid your warrenty.

# Nlake sure all knohs, bholts, screws, straps, and locks are firmly attached, tightened and locked before every trip,
Eruohs, bolts, screws, straps, and locks must be periodically inspected for signs of weat, corrosion, and fatigue.
Check ywour load at stops during the trip to insure continued fastening security,

¢ Checklocal and state laws governing projection of objects beyound the width of 4 wehicle. Be aware of the
widih and height of your cargo since low clearance hranches, hridges, and parking garages can affect the load
A1 cargo will affect the wehicle's deiving behavior, MNewver drive with atiy lock, know, ot rack in an ofen of
urdocked position. Alllongloads such as, but not livdted to sailboards, suthoards, kayaks, canoes, and
hamber must be tied down front and rear to the bumpers or tow hooks, of the wehicle.

¢ Bemove your rack accessoties when they are not in use, before intering car washes, prior to taking in your
wehicle for service, and whenever clearance may be anizsue,

o All locks soast be turned and moved periodically to insure smooth operation. Use graphite or sidlar dey
lubiticant to help this. Locks ate designed to deter vandalism and theft.  BEemowe waluable gear if your
welucle is unattended for an extended period. Place at least one key in the glove compattment.

® For gafety to your wehicle and rack system, obey all posted speed lindts and traffic cautions. Adapt your
speed to the conditions of the road and the load being cartied.

# Do not wse load cartiers and accessories for purposes other than those for which they were designed. Do not
exceed their canring capacity.

= Comsult with ywour dealer if you have any questions regarding the opetrations and limits of this product.
Rewiew all instructions carefully.

READ ALL INSTRUCTIONS PRIOR TO INSTALLATION

Installation Instructions for GOBIJEEP JL SKY ONE ROOF RACK GEN 1 rarrwo GIILSIGL | SHEET 2 OF 2§




G OBI Intellizent Designs 2000 Coxp.
Denver, Colorado 80211

RACHS wuny, GOBIRACKS.com

GEHUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

Included in kit INSTALLATION INSTRUCTIONS
Letter Description Location Quantity
A (OBI JEEP JL SKY 1 ROOF BACK Main box 1
B GOBI JEEP L STEALTH FRONT LIGHT BAR Strapped to Rack 1
C GORBI JEEP JL SKY 1 REAR. RACK SUPPORTS PASSENGER AND DRIVER | Strapped ta Rack 1ea
D REAR RACK SUPPORT TOWERS PASSENGER. AWND DRIVER. Hardwrare Box 1ea
E REAR. TOWER S3UPFORT PLATES PASSENGER AND DEIVER Hardware Box 1 ea.
F GOEI HINGE BRACKET AND BODY PANEL STRAP PASS ANDDRIVER BAG #2 1ea
G (GOBI LIGHT BAR COVER PLATES PASSENGER AND DRIVER Hardwrare Box 1ea
- GCOBI RACK MOUNTING HARDWARE
ELHED, i 8-3/8-16 x 1-1/4" Cariage screw S8
4 Black nylon shoulderwasher 4 516 18 3/4" Button head screw $§
= 1'?” Tl WE,{,ShEI £ 4- M x 40mm Button head screw 38 BAC #1
H 2-12" x 2-1/2" hex head screw 85 4- Black aluminmum spacers (Bag#3a) i
2-1/2" Nylock nut §§ 8 5/16" Flat washers $5 ; Herdmdze s
4-3/3-16 x 1" hex head screw 33 4- 5/16" Thick flat washers 553
20-3/8" Flat washer 85 4-5/16" Nylock nuts 58
16- 3/8" Nlock nut 55 4 516" Lock washer 35
4-3/8-16x 1" Camiage screw §8 1- Packet Anti-seize ubricant
GOBIISOLATOR HARDWARE PLATES P D
CONTENTS: 2- Black rectangular adhesive backed isolator wear
plates Passenger and Diiver ~|:' '
I {place on vehicle rear body panel under rubber izolators) BAG#4 1
2-Black hardtop wear plates passenger and driver Hardurare Box
(place on vebicle hard top under upper rubber 1501&Lur5“- i .
2-Round brown adhesive backed wearpads ——@& @
2-Black 1/8" 21" x 12" black adhesive backed pads —m =

o \
N C
= A = O i+

Diiver Passenger

Pass enger

ﬁj'*&}_ ____,f"%
Pinch plate {F) as shown on page 14

Fig.53. Poszition angles down.

BAG#2 BAG#3 BAG#H4

Installation Instructions for ~ GOBIJEEP JL SKY 1 ROOF RACK GEN 1 peerwo. GITLSKIRR | SHEET 3 oF 25§




G OBI Intelligent Designs 2000 Coxp.
G Denver, Colorado 80211
g wuw, GOBIRACKS.com

GENUINE ACCESSORIES

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

L] ame

Qty. 211/2-13 % 2-1/2" Hex Head Screw 55
Oty. 4| 3/8-16x 1"

Oy, 4| 5/16-B x 3/4" Button Head Screw 55

Oty. 4| M8 x 40mm Button Head Screw S5

¢ -
5 £
[t
§ T : T

(7]
* =
-“_H -
% =
° @
@ - Qty. 4| 1/2"Flat Washer 55 Oty. 20| 3/8" Flat Washer 55
S :
: g
=
c @ @ @

Qty. 4 | Black Aluminum Qty. 8| 5/16"Flat Qty. 4 | 5/16" Thick .
. 4| 5/16" Lock Washer 55
Spacer Washer 55 Flat Washer 55 el e s

©

Qty. 4| Black Nylon Shoulder Washer  Oty. 2| 1/2"Nylock Muts 85 Qty. 16| 3/8"Nylock Nuts 55 Oty. 4 [5/16" Mylock Nuts 55

Installation Instructions for  GOBIJEEP JL 5K Y ONE ROOF RACK GEN 1 mitwn GIILSIGL | suEeT 4 oF 28




G OBI Intelligent Dezigne 2000 Corp.

Denver, Colorado 80211
RAGHKS www, COBIRA CKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
Fig. 1

Use a #40 Torx bit and remove the 4
outside cowling cover screws as
shown in Fig. 1 and Fig. 2.

R

1 i

Cowling cover |
SCEEWS

Fig. 2

‘While lifting slightly on cowling (B) to
expose hinge screw (A) slide a 13mm
box end wrench over the outside hinge
screw (A) and loosen. Do not remove

IS the hinge screw only loosen as shown
Y in Fig. 3.

Fig. 3

Loosen hinge screw (A) enough to
slide hinge bracket (F) located in
Bag #2 of your hardware kit as
shown in Fig. 4.

Installation Instructions for  GOBIJEEP JL SEY ONE ROOF RACK GEN 1

eaktwo GIILS1GL | SHEET § ofF 28§




G OBI Intelligant Designe 2000 Coxp.

Denver, Colorado 80211
RAGHS www. COBIRA CKS.com
GENUINE ACCESSORIES

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 4

Slide the driver side hinge bracket (F)

_ marked with a stamped letter (D) or

4 aﬂ label (indicating Driver side) under the
| hinge screw (A) as shown in Fig. 4 and
Fig. 5.

Fig. 5

Slide hinge bracket (F) as far inward as
d possible and line up with cowling edge
(CE) and the outside windshield hinge

as shown in Fig. 5 and Fig. 6

j Fic. 6

I Line up hinge bracket (F) with cowling
edge (CE) and windshield hinge screw
then fully tighten hinge screw (A)
shown in Fig. 5 using a 13mm box end

Installation Instructions for  GOBI JEEP.JL SKY ONE ROOF RACK GEN 1 rextwn. GIJLS1G1 | SHEET § OF 28




G OBI Intellizent Desizns 2000 Coxp.
Denver, Colorado 80211
i wuww, GOBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
i Fig. 8 Fig. 9

Fully open the driver side door Use a 15mm ratchet with long Remove body strap (S) driver

to expose the upper door hinge extension and remove the upper  side located in Bag #2 of your

as shown. hinge screw completely as hardware kit as shown above
shown.

Fig. 10 Fig. 11 Fig. 12

Slide body strap (S) in between the door and body as shown in Fig. 10 above. Thread into the upper strap hole
the same torx head screw removed earlier from the outside cowling as shown in Fig. 11.  Finger tighten loosely
at this time. With the driver side door still open thread in the upper door hinge screw as shown in Fig. 12
through strap (S). Pull down on body strap (S) in the direction of the arrow and finger tighten only at this time.

Fig. 13 Fig. 14

.

Remove cowling screw as shown Place a piece of 1" x 1/2" black Install cowling as shown szuva
above in Fig. 13 o e Seated fnfiae 24 using only the top 2 screws. Leawve
’ p 2 _g 4 at out the lower cowling screws as
the Iﬂ'ﬁaﬁm shown in Fig. 14 shown. FRepeatthe same process
and Fig. 15 for the opposite side.

Installation Instructions for  GOBI JEEP.JL SKY ONE ROQF RACK GEN 1 partwo. GITLS1G1 | SHEET 7 OF 28§




G OB I Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 80211

wuw, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
Fig. 16 Fig. 17 Fig. 18

Eemove a roll of clear protective film from your wind deflector hardware package strapped onto the roof rack. Clean the
windshield frame as shown in Fig. 16 with denatured alcohel.  Peel off the protective backing on the clear protective film
and apply over the windshield onto the windshield frame as shown in Fig. 17.  Once you press the film onto the frame cut
the overage at the opposite side so that both ends start and end at approximately the curvature of the windshield glass.

Fig. 19 Fig. 20

Install the Gobi light bar (B) as shown in Fig. 19 one side first. Make sure to place a black aluminum
spacer (1) located in Bag #3 of vour hardware kit, into the cowling mounting hole recess shown in Fig. 20

Fig. 21

Remove 1- Button head Allen screw M8 x 40mm., 1-
5/16" lock washer and 1- 5/16" thick flat washer
located in Bag #3 of your hardware kit. Thread
screw, lock washer and thick flat washer into the
light bar, black aluminum spacer (1) then into vehicle

body as shown in Fig. 21. Finger tighten only at
this time.

Installation Instructions for GOBIJEEPJL SKY ONEROOFRACK GEN1 | saxrwo GIILSIGL | sHEET 8 oF 25




G OBI Intellizgent Designs 2000 Corp.
Denver, Colorade 80211
il wuw, GOBIRACKS.com

GEHUINE ACCESSORIES

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Place another spacer (1) into the mounting recess hole as shown in Fig. 22 in the same
manner as the passenger side. Pull down the Gobi light bar over the spacer and thread
in 1- Button head Allen screw M8 X 40mm, 1- 5/16" lock washer and 1- 5/16" thick flat

washer as shown in Fig. 23. Snug down only at this time.
Fig. 24

Pull the light bar up or down in or out to line up hole of light bar flange (R) with the hole
in hinge bracket (F) as shown in Fig. 24. Slip in 1-5/16 x 3/4" button head Allen screw
and 1-5/16" flat washer (3) located in Bag #3 as shown in Fig. 24 and 25. Use another
5/16" flat washer and 1- 5/16" nylock nut also located in Bag #3 and snug down using a
1/2" box end wrench and 3/16" Allen wrench. Apply the same procedure to the opposite
side.

Installation Instructions for  GOBIJEEP JL SKY ONE ROOFRACK GEN1 | earrwo GITLSIGL | sHEET O coF 25




G OBI Intellizgent Designs 2000 Corp.
Demver, Colorade 80211
i wuw, GOBIRACKS.com

GENUINE ACCESSORIES

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

SN

Remove from Bag #4 1- Brown adhesive backed Remove the driver side light bar cover plate (G)

wear pad (P). Peel off the adhesive protective from your hardware box.  Install the driver side
cover and stick to the windshield frame directly cover plate () onto the light bar as shown in Fig 27
under the rubber bumper of the light bar as shownin  using 1- 5/16 x 3/4" Allen head screw and 1- 5/16"
Fig. 26. Apply the same procedure to the flat washer (3). Use another 5/16" flat washer and
opposite side. 1- 5/16" nylock nut to secure in place and soug down
only at this time. Leave some play for adjustment.

Fig. 29

Eemove the lower light bar ME x 40 mounting screw (4) as shown in Fig. 28 Then slide cover plate (G)
over the top of lower light bar and line up holes as shown m Fig. 29.  Thread back mounting screw M8 x 40
into cover plate (G) and lower light bar and leave finger tight only. Remove 1- black alummum spacer (1)
from Bag #3 and slip behind cover plate (G) as shown in Fig. 30 in the second cowling recess hole. Thread
another M8 x 40mm Allen head screw, 1- 5/16" lock washer and 1- 5/16" thick flat washer located in Bag #3
into cover plate (G) and snug down only at this time. Leave some play for adjustment.

Installation Instructions for GOBITEEP JL SKY ONE ROOF RACK.GEN 1 eaxtyo GIILS1GL | sHEET 1QoF 25




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado E0211

wuw, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Hawve one person pull back on the top of light bar (B) towards the vehicle as shown in Fig. 31 by a vellow
arrow. Keep pressure on the light bar until all installation adjustments have been completed from Fig. 33
through 36a at which time the light bar can be released.

Fig. 33

With the hook section of cover plate () over the back of the light bar base plate (L) slide cover plate {G) in the direction
of the white arrow towards the front of the vehicle as much as possible, shown in Fig. 33, While holding cover plate (G)
forward fully tighten the M8 x 40mim serew (4) using a mm Allen wrench as shown in Fig. 33, Make sure cover plate (&)
1s even with the body lines and fully tishten the second M8 x 40mm screw (3) as shown in Fiz. 34, Proceed to the top of
cover plate {G) and fully tighten the 3/16" Allen screw {6) using a 3/16" Allen wrench and 1/2" box end wrench.

Fig. 36 Fig. 36a
Wil o pacan & e 8 s
still holding light bar —— (Sa). While
(B) back as shown someotie is pulling
in Fig. 31, fully back on light bat as
aa T e shown in Fig. 31
tighten the 5/16 stexp (3) will drop
Allen screw and then fully tighten
nvlock nut (A) screw (Sa).
shown in Fig. 36 Apply the same procedure to the opposite side. Light
» bar installation completed.

Installation Instructions for GOBIJEEP JL SKY ONE ROOF RACK GEN 1 rextyo GITLS1G1 | sHEET 11cF 25




G OBI Intelligent Designe 2000 Corp.

Denver, Colorado 80211
RACHS www, COBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 37 Fig. 38

Clean the circled area of the body in Fig. 37 passenger and driver sides with denatured alcohol. Remove the
passenger side isolator wear plate (I) from Bag #4 of your hardware kit. Fit isolator wear plate (I) as shown
in Fig. 38 so that the wear plate slots line up with the vertical body and hardtop grooves (S).  Once you are
familiar with the fit remove the protective adhesive cover shown in Fig. 39 and press in place.  Apply the
same procedure to the opposite side.

Fig. 40

Apply the same procedure in Figures
37 thru 39 to the drivers side as shown
mn Fig. 40.

_—— -,\. F e r i 'y
q e

Remove the rear driver wheel well splash guard (M) shown in Fig. 41. Use an

8mm socket drive and remove all 3 screws shown in Fig. 42 and place aside as
shown in Fig. 43.

Installation Instructions for GOBIJEEP JL SKY ONE ROOF RACK GEN 1 mrrwo GITLS1GL | sHEET 12 0F 28




GOBIJ

RACAS

GEHUINE ACCESSORIES

Intelligent Dezigne T000 Coxp.
Denver, Colorado 0211
wuw, GOBIRACKS..com

Fig. 45.

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Refer to Fig. 44 and
Figure 44

I| represents the Jeep JL

| Rubicon splash guard
support bracket (A) and
Fig. 45 represents the
Jeep JL Sahara and JL
Sport splash guard
support bracket (B). If
your Jeep JL has the
splash guard support
bracket (B) shown 1n
Fig. 45 continue reading
on to complete your
installation.
Jeep JL has the splash
cuard support bracket
(A) shown in Fig. 44
skip to Fig. 59 and
continue with your
installation until
completed.

If your

Installation Instructions for  GOBIJTEERJL SKY ONE ROOF RACK GEN 1

rerrio. GITLS1G1

sHEET 1 30F 258




G OBI Intellizgent Designs 2000 Corp.
Denver, Colorado 80211

RACHS v, GOBIRACKS.com

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Eemove passenger and dnver side Eemove splash guard support bracket
splash guards by removing 3 screws (A} (S50) by removing 4 screws (B) as shown
shown above with an 8mmn socket above using a 16mm socket

Fig. 49 Fig. 50 Fig. 51

Eear driver side Jeep JL
Sahara or Sport bumper

e 1 o e - ”: | \
Just above the rear splash guard support  Pull out on white tab (I)) in the direction of the red arrow shown in Fig. 5 to
bracket vou will find the rear bumper release connection lock then pull apart sensor connection (C) as shown in Fig. §

sensor conection {C) shown above

Pull out sensor connection () Remove screw (E) above both diverand  Femowve 2 nuts (F) shown above
atichored to body as shown above and  passenger sides using a 10mm socket both diiver and passenger sides using
allow to hang freely drive a lémm socket or box end wrench

Installation Instructions for GOBIJEEP.JL SKY ONE ROQF RACK GEN 1 rertyo. GITLS1GL | sHEET 14 oF 25§




G OBI Intelligent Dezigns 2000 Corp.
Denver, Colorado 80211
it wuw, GOBIRACKS.com

GEHUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

T1lt rear bumper ends (G) down towards the floor
then pull back and remove the rear bumper as
shown above. Refer to Fig. 62 and continue the
Gobi rack installation.

Installation Instructions for GOBIJEER.JL SKY ONE ROQF RACK GEN 1 rextyo. GITLS1GL | SHEET | S oF 28




G OBI Intelligent Dezignes 2000 Coxp.
Denver, Colorado E0211
i wuww. GOBIRACKS.com

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Remove rear bumper driver side end cap (E) shown in Fig. 56.  Use the same 8mm drive as used in Fig_ 42
with a 6" extension and take off all 3 screws (5) shown in Fig. 57. Place bumper end cap and screws aside
for later installation.

Remove rear wheel well splash guard support (SGS) shown in Fig. 59. Use a 16mm socket drive and take off all
4 screws (9) shown in Fig. 60.  The process applies to Jeep JL. Sahara and Jeep JL. Sport models. Place all
screws and splash guards support bracket aside for remstallation after the Gobi tower mstallation.

Fig. 62 Fig. 63

Use denatured alcohol and clean the circled area outside and inside of the body as
shown in Fig 62 and Fig. 63.

Installation Instructions for GOBITEEP.JL SKY ONE ROOF RACK GEN 1 raxtyo GITLS1GL | sHEET |1 § oF 258




G OBI Intelligent Designs 2000 Coxp.
Denver, Colorado 80211

RACAHS wuw, GOBIRACKS.com

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Fig. 65

Remove the Driver side tower (D)

indicated by a stamp or label located on
the underside or top of the tower shown
in Fig. 64. Located in your hardware Slide Tower (D) up onto the rear body lip as shown in Fig_ 65
and Fig 66 with pinch plate (F) positioned on the inside of the
body. Do not remove the masking tape as the tape is holding

> " — p— the pinch plate in the correct position. Fic. 67
antact mest b2 macs petween DD I_g.

box.

panel {H} and top of horsashos

shaped tower seppoert (HI)

Make certain tower (D)) is in line with the rear body seam (5) as shown in Fig. 66. Also "VERY
IMPORTANT" make certain the top of tower horseshoe shaped support (H1) shown in Fig. 65, is positioned
as far up on the body and body lip as possible shown in Fig. 67 Fully tighten all 3 screws (D 1) at this time
using a 9/16" box end wrench.

Installation Instructions for  GOBIJEEP IL SKY ONE ROOF RACK GEN 1 rexrwo. GITLS1GL | sHEET 1T oF 25




G OB I Intelligent Designs 2000 Coxp.

RACKS Denver, Colorado 80211

wuw, COBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 68

Remove nut plate (E1) shown in Fig.68 from your hardware kit. Slip the
nut plate end (N) in the slot above Tower (D) as shown in Fig. 69.

5 "
'f.".un_f-l-'

! . ;
Continue turning nut plate (E1) Remove from Bag #3, 1- 3/8-16 x 1-1/4" carriage
until the slotted end (Y) can be screw (S1)and place it from the top down into the

slotted end (1) of nut plate (E1) and lower body
seen through the square hole Dot (ED) us shown fn big- 71, Muks cortio that

shown in Flg 70. the square head of the carmage screw (S1) is seated
into mut plate slot as shown.

Installation Instructions for GOBIJEEP IL SKY ONE ROOF RACK GEN 1 rerrvo. GITLS1GL | sHEET 18oF 25




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 80211

www, GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

e

Remove from your hardware kit tower support plate (E2)

and setin plaée as shownin Fig 72. Use 1- 3/8" flat Remove from your hardware kat support plate (E3) as

washer and 1- 3/8" nylock nut located in Bag #3 and thread showninFig.73. Place (E3) on top of nut plate (E1) and
onto screw (S1) previously nstalled m Fiz 71.  Snug seta3/8-16x 1-1/4" camage screw (S1) up through nut
down using a 9/16" ratchet with 10" extension. Leave piata£2) thisk Mo Auppan pitas (F) s niinw i
enough play for adjustment. Place another 3/8-16 x 1-1/4" Fig.74. Thread on 1- 3/8" flat n.'asl_':ﬁ and 1-3/8
camiage screw (52) through support plate (E2) and into nvlock nut on top as shown in Fig. 74. Snug down but
tower arm (D1) as shownin Fig 73. Thread on 1- 3/8" flat Leave enough play for adjustment.

washer and 1- 3/8" nylock nut shown in Fig.73 using a
0/16" box end wrench. Leave enough play for adjustment.
Do not fully tighten.

Remove from Bag #3, 1- 3/8-16x
1-1/4" carriage screw (52) and place
through support plate (E3) then
through tower arm (D2) as shown in
Fig. 74. Thread on 1-3/8" flat
washer and 1- 3/8" nylock nut and
snug down using a 9/16" box end
wrench. Leave enough play for
adjustment.

While another person is applving
pressure to the tower against the
vehicle body at the top pivot ring
(PR)) shown in Fig. 76. Fully tighten
all remaining tower assembly screws.
Apply the same procedure to the
opposite side.

Installation Instructions for GOBIJEEP.JL SKY ONE ROQF RACK GEN 1 paRIVO. GIILS1G1 | SHEET]19 oF 2§




G OB I Intelligent Designs 2000 Cop.

Denver, Colorado 80211
RAGHS www, COBIRA CKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Figure 75 shows an
underside view of a
properly installed Gobi
rear tower assembly.

Reinstall rear bumper end caps or
entire rear bumper depending on the
style rear bumper you have. Figure
76 represents a properly installed
and completed Gobi rear driver side
Tower (D) and rear bumper.

Installation Instructions for GOBIJEERJL SKY ONEROOFRACK GEN1 | marrwo. GITLS1G1 | SHEET 2{) oF 25




G OBI Intelligent Designs 2000 Coxp.

RACKS Denver, Colorado 80211

wuw, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS
Fig. 77 Fig. 78 Fig. 79

As shewnin Fig. 77 place a protective cover over your jeep top to prevent any damage. With the help of others set the Gobi
rack basket (A) on top of the Jeep JL as shown in Fig. 78, Align the front of the roof rack basket with the back of light bar (E)
as showninFig 79 Use 4-3/8-16x 1" carniage screws (82) two per side.  Insert each camiage screw (52) into the front of the
light bar then into the roof rack as shown in Fig 7% Secure in place with a 3/8" flat washer and 3/8" nylock nut and snug
down using a 216" box end wrench. Do not fully tighten leave some play for adjustment.

Fig. 80 Fig. 81 Fig. 82

Set a spacer block approxmately 3 inches tall under the rear of both ends of the roof rack as shown in Fig 80,  Take the

passenger side rear support bar (C) shown in Fig. 81 and place under roof rack and let rest on roof top over protective cover.
Alizn the lower end flange of the rear support bar with the passenger side rear Tower (IY) as shown in Fig 52,

Fig. 83
1 Remove from Bag #3 1- 1/2-13 x 2-1/2"
hex bolt (S3), 2-1/2" flat washers (S4),
2- black nylon shoulder washers (S5)
and 1- 1/2" nylock nut (S6). Place
them in the order shown in Fig.83 and
snug down only using a 3/4" ratchet and
box end wrench. Do not fully tighten
at this time.

i

Installation Instructions for GOBIJEEP JL SKY ONEROOFRACK GEN1 | earzvo GIILS1GL | SHEET 2] oF 25




G OB I Intelligent Designs 2000 Corp.

RACKS Denver, Colorado £0211

wuw, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
Fig. 84 Fig. 85

Femove two 3/8-16 x 1" hex head screws, four 3/8" flat washers and two 3/8" nylock nuts (57) from Bag = 3 of vour hardware
kit listed on page 3. Insert one screw with washer through each hole of upper rear rack support (C1) as shown on Fig. 84

then into rack support plate {C2) shown on Fig. 35, Thread onto each 3/8" hex head screw one 3/3" flat washer and one 3/8"
nvlock nut and snug down at this time. Leave some play for adjustment.

Fig. 86
e

Adjust rear support bar (C) downward and roof rack (A) upwards as shown by the red
arrows in Fig. 86.  Then fully tighten both screws (S7) using two 9/16 ratchet wrenches
as shown. Continue down to the rear support bar pivot screw (PS) shown in Fig. 87
and Fig. 88. Use two 3/4" wrenches and fully tighten screw and nut until the screw is
either even with or protrudes slightly past the nut.  This will provide a secure lock to
prevent the screws from coming loose during use.  Apply the same procedure to the
opposite side.

Installation Instructions for GOBIJEEP.JL SKY ONEROOFRACK GEN1 | martwo GITLS1GL | SHEET22 OF 25




G OBI Intelligent Designs 2000 Corp.
K5 Denver, Colorado 30211
s wuw, COBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
Fig. 89 Fig. 90

iy

After the rear support bars (C) have been fully mstalled and tightened as shown in Fig 89 vou will notice that
the rear isolator screw rubber pads (RP) are not contacting the isolator wear plates(I). Twn each isolator
screw clockwise using the black plastic knobs until they contact the black isolator wear plates (I) both

driver and passenger sides. You may need to unscrew jam nut (J) shown in Fig. 89 and Fig. 90 to turn the
isolator screw clockwise. Do not apply pressure to the isolators at this time.

Pull out on the rear passenger support bar in the direction of the red arrow each time vou are turning the isolator
screw inwards or clockwise. Pulling out on the rear support bar during each turn makes it possible to easily
add pressure to each isolator screw. Turn each isolator screw clockwise at least 3 to 4 full turns both the
driver and passenger sides. This will apply pressure to the roof rack support preventing wobble and sway.
After both isolator screws have been tightened use a 1/2" open end wrench and tighten each jam nut (J) as
shown in Fig. 92 approximately 1/2 trn.  This will prevent the isolator screw from coming loose during
transport.

Installation Instructions for GOBIJEEP JL: SKY ONE ROOF RACK GEN 1 partw0. GIILS1G1 | SHEET 23 oF 25




G OB I Intelligeni Designs 2000 Coxp.

RACKS Denver, Colorade 30211

www. GOBIRACKS.com
GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Make sure both the passenger and driver upper isolators rubber pads (RP) are sitting approxmately 1/2" or more away
from the hard top as shown in Fig. 93 and Fig. 93.  Remove the upperisoalator plates (IF) passenger and driver from Bag
=4 Place the driver side isolator plate (IF) as shown inn Fig. 93 over the roof top gutter and fit the tab end (T} into the
groove of the hard top shown bestin Fig 93 After vou have become familiar with the fit, clean the area of the hard top
where the isolator pad will sit with denatured alcohol.  Remosve the protective adhesive back cover as shown in Fig. 94
then place the isolator wear plate (IP) back in place onto the hardtop over the gutter and set tab (T) into the groove of the
hardtop shownin Fig. 85, Apply the same procedure to the opposite side.

After both the passenger and driver side isolator plates (IP) have Lift up roof rack (A) as shown

been mstalled, adjust both isolator screws (RP) so that they contact by the red arrow as much as

each isolator plate a shown i Fig. 96. Apply some pressure to each possible. Then fully tighten all

isolator screw onto the isolator plate.  Serious pressure applied to 4- 3/8-16 x 1" carriage screws

each isolator screw is not necessary. The purpose of the upper (52) using a 9/16" box end

isolator screws (RP) is to prevent upper rack sway when heavy wrench both passenger and

cargo is present.  Once vou have set both the driver and passenger driver sides. Check all screws

side 1solator pressure fully tighten both isolator jam nuts (J) as shown to make certamn they are

m Fig. 96 and Fig. 97 using 2- 1/2" open end wrenches. properly tightened and secured.
Installation Instructions for GOBIJEEP JL SKY ONE ROOF RACK GEN1 | eaxrwo. GIILS1GL | SHEET 24 oF 25




G OBI Intelligent Designs 2000 Coxp.
Denver, Colorado 80211
it wuw, GOBIRACKS.com

GOBI JEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

CAUTION: #% DO NOT REST THE GOBI ROOF RACK ON THE REAR BUMPER AS DAMAGE CAN RESULT

% EXCESSIVE SPEEDS OVER ROUGH TERRAIN WITH OR WITHOUT A FULLY LOADED ROOF
BEACK ARE NOT RECOMMENDED AS DAMAGE CAN OGCCUR TO ROOF REACK OR VEHICLE.

Recommended Attachments for soft top use:

A) Gobi "Mini Wind deflectors” part #GJW-MWD if no forward LED lights are installed
B) "Quick Release" part #GJJLSK 1SRIL for easy and quick release of the roof rack
C) "SUN ROOF INSERT LARGE" part #GJILSK1SRIL

NOTE: A set of cross bars or a roof rack insert must always be in place at the rear of the
roof rack to prevent wind buffeting noise.

To purchase these or other Gobi attachments please contact a Gobi online dealer or Gobi Racks direct at
1-720-479-9372 or e-mail to sales(@gobiracks.com Thank you for your purchase

Installation Instructions for GOBIJEERJL SKY ONEROOFRACK GEN1 | ramrwo GIILS1G1 | sHEET 250F 25




G OBI Intellizent Designs 2000 Coxp.
Denver, Colorado 80211
it wuw. COBIRACKS. com

GEHUINE ACCESSORIES

GOBIJEEP JL 2 & 4 DOOR SKY ONE ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

GOBI JEEP JL SKY ONE SOFT TOP NOISE SUPPRESSION OPTIONS

Add 2 cross bars at
the rear or 1 smaller
sun roof insert

- If no lights are
| present add 4 mini
wind deflectors

Installation Instructions for GOBIJEEP JL SKY ONE ROOF RACK GEN 1 rarrwo. GITLS1G1 sHEET 20




INTELLIGENT DESIGNS 2000 CORPORATION

This limiled orie year waremnnly cossrs DMLY Inleligent Designs 2000, Comoration CIDS0007 products, Pleass raview I lerms and cencklions of fe hnked
nEirranlins i,

LIMITED ONE YEAR WARBANTY

Al warcanties and representations, excepl as sel oul below , are hereby disciaimed ., ncluding finess for the purchasers inbanded use of purposs
amd mexchan tabality), l products being soid AS IS, without warranty beyond that made herein , with the purchaser assuming: 1) le enBre isk as o
e quallty and performamce of fhe goods, 20 the cost of any repairs nok covered haralin,

Iretalbcgunt Daskgns 2000 ComoraSon warrants as Bmdad boeeedm, (o0 oigmal purdssae Bal it oot wich e en progesdy insdaflaod por prosddined
nstraclions ara frea [rom dslects in malerial andor sorkmanship, & Inteligent Designg 000 option, the purchaEsans remedy eeaunder sl be limilad Lo repair
or replaoemant of delodive pamts retumesd 1o e plios of perchase o to ileligent Desigies 2000 &1 e purdha s s apinas,

Tin barligensd Doz ssiggress 2000 wenndy, as orein, shisll only Be aflective s@ile e arkginal guoretmsar awng o saliiada an whilc i e prodeed ar peodic s was
inalaliad and =all not apty i1 1e pro<iucg has been removed [Fom e off gnal vehicle, Intedgent Dazigns 2000 warranly 18 wold B any damags o he
procluet or products s doe e misess, abuse, neglect, acddenl, imgroper smskalation, o contact weih on=read o off-road azms, produc medification,
Improfrer o inadageate maintanance of any usa contrary Woihe instruclon s acsempamying the proouct. balligent Designs H00 wamanty only covers he
o of e o lonliee parl sl nol the cost of remoeal, inslalkation, and paimling or dhar inaklenlal ar congsope enlizl chargos ar damages, o porsonal njury
domapas, and moas not coer USse o any prodect on rmong vehicles nballipent Lesig ns S000°5 wamanly 15 not mmnstaraile irom tha ariginal purchasar,

THIS LIMITED WARRBRANTY DOES NOT APPLY TO:

1. Camagas of protiams tet rasul from sipoing, instelefion, medienance, o saparale syelem com ponans,

2, Lamagas oF protwams that rasull o misuss, ateesa, opemton oulsda smeronmental speclicalions or conlrary (o the rageEraments of precaulions i the
nstallation Instnections, acciden, lghtn ing dikas or oher nalural canses, unaotherizad modicalion < alleration, neomed aledrical cirrant of vollage, dhar
cemi g il srisng ool ol dedecd i maheral or wossranship,

3, Theredors, he cosl of regat or replacemant of s ch defaective product shall be borme be! the cuslom e

Texassune proshuct gquality. Intalegant Daskns 260 rassmms e right 1o change preduct dasigns, matarials spesiicaSons and fnishes wilh ok prior nob ca o
cugtomere, rieligent Desl gns 2000s waranly ghes you snedlic legal ignls and you mgy alse have sllar ghts, which vary Tram stabe 1o sate. Some stabes do
not imEalicns on hosy long an implied warranty lasls, 50 ha abesve ImEalionss may nof apeply bo o, Adso. some siales tonok allow e escusion or limilatien of
inecilantal of conssdquential famages a0 Ihe ghove EMEalions o excusions may e apply 1o Wol Inaligant Dasigns 2000 reseres he gl Lo discontings
presiet lnes and substluls progess or provica off er remedies clher han thosa Ested i tha imied wermany or Biosa dscondinuad progiects

FHESWARREAMNEY 15 1M LD CF AN O TTIEER WAKKAN TIES, EXFRESS €FR D PLUED, ENCLII D WL T LIMTENT R IN, AMY WWARRAM Y LR
MAERCHANT AW b T UMESS TR 8 POV IGUEAR FURROSLE 10 LG EXTEN U Ay IMPLIGE WARRAN Y 18 RECHIRED Y Lo 1 1S LIMTTELD
I DURATION T THE IRXFRESS WK EAN 1Y PERICD AR TVE, INTELL RN T DESECRRS 20 CORBURATICN S GO0 BATES LSAWILL MOV IEE
ALY POYE ARY CORMRIZEIUEN 1AL, INDIHECL, OO ENCITER A PAMUAGES O ARY KN IMC LA TR LSS OF REVERMUES R FROFTTS, 1M
ASONMEET IR AT PITE PROLT P, SECE S TATES DO ST ALY LN TERT1C 005 10 DI LN A IMPLIED WA ERANTY LASTS OR CTHEE
IS MM D P N CNAEN AL CVR D0NSECHERM TIAL TN ACRES, 500 PHTE S HCAE LIS ERTH S OF ENCLUSFOMS SIAY MO SFPIY T WD

REQUESTING WARRANTY COVERAGE

o this wamarity (o be aitectivg, s Srongly recom mandad Ehaf tha perchiaser completasand miums Ihe warmnty ragisiralion (o inlaligant Desgns S0 sl
tan caye of ke dale of purchass, Repiacement parts can be oblzaina Dy reeming e pan along sl e of purchase, Warsany cdaims sannod be deierined
unlilina marghandse is recelved and nspacksd. Retams made o Intelligent Designs 2000 will not he accepbéd without pricr authorization from

In leligent Designs 2000, This included bt is nod limibed o 28 shipping costs and all otfer inc dental costs o be paid by the customer. Pleass call e
CUStoM e service department at the number below,

LIMITED LIABILITY WARBANTY
mpligent Dasigns 2000 Corpeadien sarrants s preded: o be trag of origingd defacds In matariads of workmanship o6 bong a: e egognal purdkaser
owals e motor vehicle on which il is inglaled. This wamanly does nol cover damarge rasaling rom accidend, misuse of abuse, neqiact, latk of
rapsaie care, of lenproper instaliation. The Company will repalr of raplace, ab £5 option, amy giredes covarned by this wsmanty Sok besomas
dedective. This isa pans-only warranly aad sach repair of replacameant shall be the Comgany's Sds obsgalion amd (he cestemean's sode remeady lor
e ity producl. Tha Comngsany it hevas e ity e porsorsl injory, progeety clamadg, isedantal, or eonsiepontil femasgoes of soy kind o
mature. THIS FORESOING WARRANTIES ARE EXCLUSIVE ARD I LIEL OF ALL OTHER WARRANTIES, EXPFRESS OR IMPLIED, ARD THE
COREARY DHSCUAIRS ALL OTHEH WaHRSNTIES, EXFEHESS OF IMPLIEL, INCSLLFDENCE W THOIT LIREITATEOR, ARY IMPLIEL WAHHAN DY
OR MERCHANTABILITY GR FITMNESS FOR & FART ICULAR FURFOSE.

T chtain warranty sardas, ralurms this poron to Meligent Designs 2000 Cofpotion wilh a preol of purchass 1o Me addrass e,
Flease s,

First Neme Lt Mame
Address Cily
E-mail Slate
Phane Mumbar Zip Goda

Imtedigenl Designe: 2000 Comperation « 14508 E 53 Flace nil E - Aurcea, OO 800171 - 720 478 2573




